
 

!

FRENIC-Ace Series Type 1 

取付説明書

*  

 

 

*

Model No.       NEMA1-72E2-4

13A123A0001                            

FRN0059E2 -4#

NEMA1-72E2-4

FRN0059E2 -4#

FRN0072E2 -4#

NEMA1-105E2-4

FRN0072E2 -4#

FRN0085E2 -4# FRN0085E2 -4#
FRN0105E2 -4# FRN0105E2 -4#
FRN0139E2 -4# FRN0139E2 -4#
FRN0168E2 -4# FRN0168E2 -4#

FRN0203E2 -4#

A

装 MODEL

FRN18.5E2 -4J FRN18.5E2 -4J

FRN22E2 -4J FRN22E2 -4J

FRN0203E2 -4#
NEMA1-203E2-4

B

MODEL  A

MODEL  B

MODEL  A

MODEL  A

MODEL  A

MODEL  A

MODEL  A

MODEL  A

MODEL  A

MODEL  A

INR-SI47-1803a-JE (1/4)



INR-SI47-1803a-JE (2/4)

W H D A B

195 2862.5

62.5 28323.4 720 255

MODEL

250 565 A

AB

W

H

D

W

H

D

AB

FRN0059E2 -4#
FRN18.5E2 -4J
FRN0072E2 -4#
FRN22E2 -4J
FRN0085E2 -4#
FRN0105E2 -4#
FRN0139E2 -4#
FRN0168E2 -4#
FRN0203E2 -4#

 (mm)

B
358.4

930
290

805
91.5 28865

 

 

 

 

 

 

 

 下

銘板

MODEL  B

MODEL  B

MODEL  B

MODEL  B

MODEL  B

MODEL  B

MODEL  B

MODEL  B

MODEL  B

MODEL  AMODEL  A

富士電機株式会社
〒141-0032 東京都品川区大崎一丁目 11 番 2号（ゲートシティ大崎イーストタワー）
 URL:http//www.fujielectric.co.jp/
発行　富士電機株式会社　鈴鹿工場
〒513-8633　三重県鈴鹿市南玉垣町 5520 番地
 技術サービスセンター　TEL:0120-128-220  FAX:0120-128-230  E-mail:drive@fujielectric.com



- Follow the instructions in the inverter’s 

operation manual to remove the “Front 

Cover” and “Wiring Guide”.

Model No.       NEMA1-72E2-4

13A123A0001                            

FRN0059E2 -4#

NEMA1-72E2-4

FRN0059E2 -4#

FRN22E2 -4J

NEMA1-105E2-4

FRN22E2 -4J
FRN0072E2 -4# FRN0072E2 -4#

FRN0085E2 -4# FRN0085E2 -4#
FRN0105E2 -4# FRN0105E2 -4#
FRN0139E2 -4# FRN0139E2 -4#
FRN0168E2 -4# FRN0168E2 -4#

FRN0203E2 -4#

A

MODEL

FRN18.5E2 -4J FRN18.5E2 -4J

Note: To wire the signal lines, remove the “knockout plug”.
The mounting parts are slightly different for each model.

FRN0203E2 -4#
NEMA1-203E2-4

B

Model A

If the product appears to be defective in any way, contact the place of purchase or

the nearest sales representative.

□TOP COVER

□CABLE PLATE
□FRONT COVER

□BLIND COVER (SMALL) : 3PCS

□TOP COVER MOUNTING SCREW
 　(M5x16 : 2pcs) 

□BOTTOM COVER SUPPORT MOUNTING
     SCREW (M4x10 : 4pcs)
□FRONT COVER MOUNTING SCREW
 　(M4x8 : 2pcs)

□BOTTOM COVER
□BLIND COVER (LARGE) : 2PCS

□SIDE COVER

□MAIN UNIT MOUNTING SCREW
 　(M5x12 : 2pcs)

Note: To wire the control signal lines, remove the “knockout plug”.
The mounting parts are slightly different for each model.

*Knockout plug

□TYPE1 COVER

*Knockout plug

2.Mounting Method
Use the following procedure to mount the Enclosed - Type 1 Kit.
If mounting is incorrect, the product will not conform to the UL Enclosed-Type 1.
Note: The mounting method is slightl y different for each model.

Mount the “Blind Cover”.

 Blind Cover

 (LARGE)

 Blind Cover

 (SMALL)

 Blind Cover

 (SMALL)
 Blind Cover

 (LARGE)

Remove the “Front Cover” and “Wiring 
Guide”.

 Front Cover

 Front Cover

 tightening screw

Wiring Guide

Note: Align the “Blind Covers” so that the cutouts face the front of the inverter.

Cutouts
< Front of inverter >

< Back of inverter >

< Front of inverter >

< Back of inverter >

1) Catch the hook located in area 

A on the inverter’s side cover.

2) Attach the “Blind Cover” by 

pushing the hook located in 

area B into place.

 B

 A

Side Cover

MODEL  B

Enclosed - Type 1 Kit for FRENIC-Ace Series
Thank you for purchasing the Enclosed - Type 1 Kit. This Kit is an optional

product used with FRENIC-Ace series general-purpose inverters. Mounting

the Enclosed - Type 1 Kit to a FRENIC-Ace series general-purpose inverter

provides inverter with a Type 1 Enclosure. 

When this kit is mounted, use the inverter in an ambient temperature of

 -10 to +30℃ for ND, HD mode , and of -10 to +40℃ for HND, HHD mode.

1.Checking the Product
Unpack and check the following items.
(1)The Enclosed - Type 1 Kit and instruction manual (this manual) is
      contained in package.
(2)The Enclosed - Type 1 Kit is not damaged during transportation--no dents.

A nameplate is affixed to the top of the Top cover

or right of the Type 1 cover.

Check that the nameplate specifies the product

 that was ordered.

【Type】

When an Enclosed - Type 1 Kit is installed to an inverter unit, the unit type changes 

to a type shown in a column “Inverter type after installation”.

Installation Manual

Applicable Inverter type Option type Inverter type
 after installation

40
0V

, T
hr

ee
-p

ha
se

Mount the “Bottom Cover” ,  “Cable Plate”
and “Side Cover”. 

Cable Plate

 Side Cover

 Bottom Cover

Wire and connect the cables.
After mounting the “Cable Plate”, install the inverter and conduit bushing
 (sold separately), then wire and connect the cables.
Wire and connect the cables correctly according to the instructions in operation 
manual for the inverter.
(Refer to “ 2.2 Wiring ” in the Inverter Operation Manual.) 
Note: Be sure not to lose the cover removed.

Mount the “Front Cover”.
After checking that the cables have been wired and connected correctly, mount
the front cover.

 Front Cover

- Use the M4 x 8 (2 pcs) screws.

Remove a top block plate before installing a Top Cover.

Mount the “Top Cover”. 
!

 Top Block plate

-Mount the “Top Cover” to top 
  of the inverter unit with screw.

  -USE SCREW-M5 x 16 (2 pcs)

 Top Cover  Nameplate

Mount the “Front Cover”.

Mounting is completed.

 1)Mount the “Bottom Cover” and

    “Side Cover” to bottom of the

     inverter unit with screw.

  -USE SCREW-M5 x 12 (2 pcs)

    *Tightening torque 31.0 lb-in

                                        (3.5 N・m)

 2)Mount the “Cable Plate” to 

     bottom cover with screw.

  -USE SCREW- M4 x 10 (4 pcs)

    *Tightening torque 15.9 lb-in

                                        (1.8 N・m)

    *Tightening torque 15.9 lb-in

                                        (1.8 N・m)

    *Tightening torque 31.0 lb-in

                                        (3.5 N・m)

    *Tightening torque 8.9 lb-in

                                        (1.0 N・m)

□MAIN UNIT MOUNTING SCREW
 　(M5x12 : 4pcs)

MODEL  A

MODEL  A

MODEL  A

MODEL  A

MODEL  A

MODEL  A

MODEL  A

MODEL  A

MODEL  A

INR-SI47-1803a-JE (3/4)

Note: The “ ” and “#” symbols in the applicable inverter type

 and the “ ” and “#” symbols in the inverter type after installation  will be replaced 
with letters as follows:

 :  S (basic type), E (type with built-in EMC filter)
 :  U (basic type), F (type with built-in EMC filter)

  # :  A (type for Asia), E (type for Europe), C (type for China), U (type for U.S.A.), 
K (type for South Korea), GA (type for global), GB (type for global)



INR-SI47-1803a-JE (4/4)

AB

- Remove the “Bottom Cover 

tightening screws” and 

remove the “Bottom Cover” 

as shown in the figure.

- Secure the “Type1 Cover” to the 

inverter with the screws.

- USE SCREW-M5×12 (4pcs)

*

- Remove the “Front Cover 

tightening screws” and 

remove the “Front Cover” 

as shown in the figure.

W

H

D

W

H

D

AB
 Bottom Cover

 tightening screw

Mount the “Type1 Cover”.

 Front Cover

 tightening screw

 Front Cover

 tightening screw

 Front Cover tightening screw

 Front Cover

 (Type1 cover)

Mount the “Bottom Cover”.

Wire and connect the cables.
After mounting the “Bottom Cover”, install the inverter and conduit bushing
 (sold separately), then wire and connect the cables.
Wire and connect the cables correctly according to the instructions in operation 
manual for the inverter.
(Refer to “ 2.2 Wiring ” in the Inverter Operation Manual.) 
Note: Be sure not to lose the cover removed.

Mount the “Front Cover”.
After checking that the cables have been wired and connected correctly, mount
the front cover.

 Front Cover

 (Type1 cover)

*Tightening torque 

Mounting is completed.

3.External Dimensions

31.0 lb-in (3.5 N・m) (M5)
15.9 lb-in (1.8 N・m) (M4)

W H D A B
MODEL

9.84
[250] A

FRN0059E2 -4#
FRN18.5E2 -4J

FRN22E2 -4J
FRN0072E2 -4#

FRN0085E2 -4#
FRN0105E2 -4#

FRN0139E2 -4#

FRN0168E2 -4#

FRN0203E2 -4#

B

Applicable type Dimensions Conduit
size

40
0V

, T
hr

ee
-p

ha
se

(inch)
([mm])

12.73
[323.4]

14.11
[358.4]

22.24
[565]

28.35
[720]

31.69
[805]

34.06
[865]
36.61
[930]

7.68
[195]

10.04
[255]

11.42
[290]

2.46
[62.5]

3.6
[91.5]

1.1
[28]

2.46
[62.5]

1.1
[28]

1.1
[28]

(inch)
([mm])

Note: The “ ” and “#” symbols in the inverter type will be replaced with letters as follows:

 :  U (basic type), F (type with built-in EMC filter)
  # :  A (type for Asia), E (type for Europe), C (type for China), U (type for U.S.A.), 

K (type for South Korea), GA (type for global), GB (type for global)

- Follow the instructions in the 

inverter’s operation manual to 

remove the “Front Cover”.

Front Cover

(Inverter)

Front Cover

(Inverter)

Model  B

Remove the “Bottom Cover”.

 Bottom Cover
 Nameplate

 Type1 Cover

Remove the “Front Cover”.

 Bottom Cover

    *Tightening torque 31.0 lb-in

                                        (3.5 N・m)

MODEL  B

MODEL  B

MODEL  B

MODEL  B

MODEL  B

MODEL  B

MODEL  B

MODEL  B

MODEL  A MODEL  A

MODEL  B

Fuji Electric co.,Ltd.
Gate City Ohsaki, East Tower, 11-2, Osaki 1-chome, Shinagawa-ku, 
Tokyo,141-0032, Japan
Phone:+81-3-5435-7058  Fax:+81-3-5435-7420
URL:http//www.fujielectric.coｍ/


